Veak Keview answens

Review Exercises (page 767)
2. Parabola ~ 4. y* = —8(x — 2)
6. (x—22=8(yy-2)

8. y = 4x + 8, xintercept: (—2,0)

G2, (=2

t+4? =52,

10. y2 = 6x
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12,

14,

16. 36 fect, 28 feet, 2./128 =~ 22.6 feet |

18, Center: (—2,73) [

‘ Vertices: (—7, 3),(3,3) |
Foci: (—2 = /21, 3)

5 R

20. Center: (5, -—.3)
Vertices: (5, 3), (5, —9)
Foci: (5, -3 + ./35)

/33 |
6

Ay — 72 2 — 3y
22_:;_2_():122) =] 4.1%’/—5~—("4/53) =1 |
26. Center: (—1, --3) ) |

Vertices: {(—1, 1), (—1, —-5) [
Foci: (— 1,-3x \/2-9)
Asymptotes: y = %x - % y= —-%x - 151

e =

28. Center: (0, 1) _ |
 Ventices: (0,3), (0, -1)
Foci: (0,1 % /5)
Asympiotes: y = 2y -+ Ly=-2x+1

|
o 576x* 5762 6d(x — 12 gay? [

25 279 7 a5 39
32. Hyperbola '

" 1. Hyperbola
S (y- 22 =12x

4 36 |

: Review Exercises

x —2)
"

17 Center: (1, —4)

Vertices: Vertices:
(1,0), (1, -8) (=2, 11}, (2, ~9)
Foci: (1, —4 + /7) Foci: {~2,1 + /19)
Eccentricity: g Eccentricity: —1%
2 - 3)? S(x— 4P 52
a EF2 (y-32 ] VA
1 64 36 ! 3 16 64 !
25. Center: (1, —1) s
Vertices: (5, -1), (—3, - 1) 6l

Foci: (6, -1), (-4, —1)
Asymptotes:

y=-1+3x-1)

27, Center: (3, —5)

Vertices: (7, ~5), (-1, —5) J

Foci: (3 + 2./5, —5)
Asymptotes:
y= -5+ %(x -3}

29, 72 miles 31. Ellipse

Qﬁé‘ﬁ

tly-1p=1

(page 761)

3. (x—4)? = —3(y —2)
T.2x+y—2=0; (1,0

} — 2 2
9, About 19.6 meters 17, F =22 L 22 1

25 o
15. 3 feet atop the pillars

18. Center: (-2, 1)

odds




